Sangaku Journal of Mathematics (SJM) ©SJM ISSN 2534-9562 Volume 2 (2018), pp.74-75 Received 1 December 2018. Published on-line 9 December 2018 web: http://www.sangaku-journal.eu/ ©The Author(s) This article is published with open access<sup>1</sup>.

# Solution to 2017-3 Problem 3

LI TING HON STANFORD

3B, Kensington Court, Shiu Fai Terrace, Wan Chai, Hong Kong e-mail: tinghonli@yahoo.com.hk

Abstract. 2017-3 Problem 3 is generalized.

Keywords. sangaku, square, isosceles triangle.

## Mathematics Subject Classification (2010). 51M04, 51M25.

## 1. Problem 3

We generalize the following problem in [1]:

**Problem 1.** Let ABC be an isosceles triangle with base BC, and let DEFG be a square such that D, E and FG lie on the sides AB, CA and BC, respectively, and DE = a. PQRG is a square such that P, Q and R lie on the sides DG, EB and BG, respectively, and PQ = b; STUV is a square such that S, T, and UV lie on the sides AD, EA and DE, respectively, and ST = b. Find a in terms of b.



FIGURE 1. The problem.

<sup>&</sup>lt;sup>1</sup>This article is distributed under the terms of the Creative Commons Attribution License which permits any use, distribution, and reproduction in any medium, provided the original author(s) and the source are credited.

### 2. Generalization

We generalize the problem.

**Theorem 1.** Let ABC be an isosceles triangle with base BC, and let DEFG be a square such that D, E and FG lie on the sides AB, CA and BC, respectively, and DE = a. If PQRG is the rectangle such that P, Q and R lie on the sides DG, EB and BG, respectively, and GP = b and PQ = nb, and STUV is the square such that S, T and UV lie on the sides AD, EA and DE, respectively, and ST = b, then  $a = (1 + \sqrt{2n+2})b$  holds.

*Proof.* Let H be the foot of perpendicular from A to BC, h = AH and l = BH. From the similar triangles ABH, DBG, SDV, we have the following equations:

(1) 
$$\frac{h}{l} = \frac{a}{l - \frac{a}{2}} = \frac{b}{\frac{a}{2} - \frac{b}{2}}.$$

From the similar triangles EBF and QBR, we have

(2) 
$$\frac{a}{l+\frac{a}{2}} = \frac{b}{l-\frac{a}{2}-nb}.$$

Eliminating h and l from the equations (1) and (2), and solving the resulting equation for a, we get  $a = (1 + \sqrt{2n+2})b$ .



FIGURE 2. n = 5.

Remark. The equations (1) yield the following rations:

$$h = \frac{a^2}{a-b}, \quad l = \frac{a^2}{2b}.$$

### References

[1] Problems 2017-3, Sangaku J., Math., (2017) 21-23.